
SITUATION: 
We have a case sampled from the All Families universe consisting of a single aided 
stepfather with a 13 yr. old child.  The stepfather is disabled. 
 
QUESTION: 
How do we code item T12 (Type of Family for Work Participation)? 
 
Is T-12 (1) family included or (3) family excluded? 
 
ANSWER: 
You are correct in only considering codes one and three in item T12 for an all Families 
universe case. 
Since there is an aided adult in the case, this case must be coded 1 in T12. When you get 
to item T48 use code 07 (Exempt Disabled).  
 
 


